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f() fz(t)

d
1.2.6 WEHI: E[fl(t)*fz(t)h * (1) = f1 () *
1.2.7 ifW: #F[0) = F(@), Heooh—cms, W

Flcosp(t)] = %[F(a)) + F(—w)],

F[sin p(£)] = %[F(w) _F(w)]

1.2.8 Q1 F[F ()] = F(@), kT 500 A

(a) tf(1); b (I-t)fd-1); (c) tf(2t);
d (=2)f(-2t); (e f(2t-3); (f) t%.
1. 2.9 3K R 5 R B4 R AR #e
2
—at . — a
(a) f(t)=te “u(t); (b) f(t)_a2+47z2t2'

1.2.10 A AR K AR T AR I3 I 7
1, 0<t<]
(a) Igoog(a))sina)tda) =42, 1<5t<2;

0, =2
(b) j g(a))cosa)tda)—%m
0, <0 sint 0<r<”
L2113 fi(t) =4 _, s , fH(t) = 2
e ) t >0 O, ;H\:HE:

k(@) * f,(2).
1.2.12 M HEFEHE, KT 1E
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. 4
<+0]l —COS X +ooSIN T X
RGN
—00

@ | : dx 5 dx ;
X X
*+00 1 +00 X2
(c) _wﬁdx; (d) _wﬁdx.
T (+x7) (1+x7)
1. 3.1 3K 1 51 R 250 e (AR e
(a) u(t)sinbt ; (b) u(t)cosbt;
() e “cosmyt-u(t): (& eu(t—t,):
() sin’ ¢ o sen(ry= 7 <Y
sin” ¢ ; sgn(t) = .
) 8 1, t>0

1.3.2 % fil)=é cost, fL(t)=0(t+D)+5(0-1) ., =k
Si(@)* f5(2).
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